@ myCBSEguide.com
A A Complete guide for CBSE students

041/1X/SA2/30/ A1l

Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
T : 39 31, T2 Afehan 37 :

Total No. of Pages :
T T i G ;

General Instructions :
All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 4 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculators is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 carry 1 mark each. For each of the questions 1 to 10, four
alternative choices have been provided of which only one is correct. You have to
select the correct choice.

1.  Which of the following is not a linear equation ?
(A) ax+by+c=0 (B) Ox+0y+c=0
(C) Ox+by+c=0 (D) ax+0y+c=0

2. Which of the following is a solution of the equation 4x+3y=16 ?
(A) (23 B) (1 4) ©) (24 D) (L 3)

3. Infigure, PORS is a rectangle. If ORPQ=30° then the value of (x + v) is

S R
Yy
X
30°
P Q
(A) 90° (B) 120° (C) 150° (D) 180°
4. Two polygons have the same area in figure :
S R A D S R P A B S
P 0 B C P Q Q R
() (b) (© (d)
(A) () (B) (b) € (© (D) (@)
5.  Two consecutive angles of a parallelogram are in the ratio 1 : 3, then the smaller angle
is :
(A) 50° (B) 90° (C) o60° (D) 45°

6. In figure, PQRS is a parallelogram in which OJPSR=125°, ORQT is equal to

S R
125°

A\ 4

P Q T
(A) 75° (B) 65° (C) 55° (D) 125°
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The diagonals of rhombus are 12 cm and 16 cm. The length of the side of rhombus is

(A) 10 cm (B) 12 cm (C©) 16 cm (D) 8cm

The length of the diagonal of the square is 10 cm. The area of the square is
(A) 20 cm? (B) 100 cm? (C) 50 cm? (D) 70 cm?

The length of the longest pole that can be put in a room of dimensions
10m X 10 m X 5 m.

(A) 15m (B) 16 m (C) 10 m (D) 12m

The range of the data 25.7, 16.3, 2.8, 21.7, 24.3, 22.7, 24.9 is
(A) 22 (B) 229 (©) 21.7 (D) 20.5

SECTION - B
Question numbers 11 to 18 carry 2 marks each
Find the mean of factors of 24.

The length, breadth and height of a room are 5 m, 4 m and 3 m respectively. Find the

cost of painting the walls of the room and ceiling at the rate of Rs. 50 per m?.

How many litres of water flow out through a pipe having an area of cross-section of
5 cm? in one minute, if the speed of water in pipe is 30 cm/sec.

Two parallel chords of a circle whose diameter is 13 cm are respectively 5 cm and
12 cm. Find the distance between them if they lie on opposite sides of centre.

In a paralleloram, show that the angle bisectors of two adjacent angles intersect at
right angle.

The angle between the two attitudes of parallelogram through the vertex of an obtuse
angle is 50°. Find the angles of parallelogram.

OR
D is the mid point of side BC of AABC and E is the mid point of AD, then show that

1
ar (BED) = ke (ABC)

Two congruent circles intersect each other at points A and B. Through A a line segment
PAQ is drawn so that P and Q lie on the two circles. Prove that BP = BQ.

Express y in terms x in equation 2x —3y=12. Find the points where the line represented
by this equation cuts x-axis and y-axis.
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SECTION - C
Question numbers 19 to 28 carry 3 marks each

Draw the graph of two lines whose equations are 3x —2y+6=0 and x+2y—6=0 on
the same graph paper. Find the area of the triangle formed by two lines and x-axis.

The taxi fare in a city is as follows. For the first kilometre, the fare is Rs. 8 and for the
subsequent distance it is Rs. 5 per km. Taking the distance covered as x km and total
fare as Rs. y. Write a linear equation for this information and calculate from the equation
total fare of 15 km distance.

Construct a AABC in which AB=5.8 ccn, BC+CA=8.4 cm and OB = 60°.

In figure, ABCD is a parallelogram. The circle through A, B and C intersects CD
produced at E. Prove that AE = AD.

XY is a line parallel to side BC of AABC. BE || AC and CF || AB meets XY is E and F
respectively. Show that ar(ABE) =ar(ACF).

OR

>
oy

D C

In figure, ABCD is a trapezium in which AB || DC. E is the mid point of AD and Fis a
point on BC such that EF || DC. Prove that F is the mid point of BC.

From a right circular cylinder with height 8 cm and radius 6 cm, a right circular cone
of the same height and base is removed. Find the total surface area of the remaining
solid.

How many spherical lead shots each 4.2 cm diameter can be obtained from a solid
cuboid of lead with dimensions 66 cm, 42 cm and 21 cm.

OR

An iron pipe 20 cm long has external diameter equal to 25 cm. If the thickness of the
pipe is 1 cm, find the total surface area of the pipe.
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Three unbiased coins are tossed together. Find the probability of getting

(i) two heads (ii) at least two heads (iii) no head

OR

A bag contains 12 balls out of which x are white. If one ball is taken out from the bag,
find the probability of getting a white ball. If 6 more white balls are added to the bag
and the probability now for getting a white ball is double the previous one, find the
value of x.

The marks obtained by 40 students of class IX in Mathematics are given below :

81, 55, 68, 79, 85, 43, 29, 68, 54, 73, 47, 35, 72, 64, 95, 44, 50, 77, 64, 35, 79, 52, 45, 54,
70, 83, 62, 64, 72, 92, 84, 76, 63, 43, 54, 38, 73, 68, 52, 54

Prepare a frequency distribution table with class - size of 10 marks.
Find the median of the following data

19, 25, 59, 48, 35, 37, 30, 32, 51.
If 25 is replaced by 52 what will be the new median.

SECTION -D
Question numbers 29 to 34 carry 4 marks each
Solve for x,

3x—5+4(x+2)=25x+7
3 5 15

OR

A and B are friends. A is elder to B by 5 years. B’s sister C is half the age of B while A’s
father D is 8 years older than twice the age of B. If the present age of D is 48 years, find
the present ages of A, B and C.

Prove that the parallelograms on the same base and beween the same parallels are
equal in area.

OR

Diagonals AC and BD of a trapezium ABCD with AB || DC intersect each other at O.
Prove that ar(AAOD) = ar(ABOC)

Draw a histogram of frequency polygon for the following data

Marks 10-15 | 15-20 | 20-25 | 25-30 | 30-40 | 40-60 | 60 -80
No. of students 7 9 8 5 12 12 8
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In figure, diagonals AC and BD of quadrilateral ABCD intersect at O, such that

OB=0D. If AB=CD show that

D A

C B
i)y ar (DOC) = ar (AOB)

(i
(i) ar (DCB) = ar (ACB)
(iii)y ABCD is a parallelogram.

In figure, two circles intersect at B and C. Through B two line segments ABD and PBQ
are drawn to intersect the circles at A, D, and P, Q respectively. Prove that

OACPE QCD.

P

A lead pencil consists of a cylinder of wood with a solid cylinder of graphite filled in
the interior. The diameter of the pencil is 7 mm and the diameter of graphite is 1 mm.
If the length of the pencil is 14 cm. Find the volume of wood and that of graphite.

-000-
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Y AT 1 9 10 ek Yeleh o {610 1 31k &1 19 10 ek Udieh W9 o forg =i farered feu
T E R A Uk faeheT @ ¥1 3uent W farehed Rt T8 T B

1. fafafed 4 9 &0 s g =@ 2
(A) ax+by+c=0 (B) Ox+0y+c=0

(C) Ox+by+c=0 (D) ax+0y+c=0

2. frAfafad § 9 oM, THH 4x + 3y =16 H Th 7 € 2
(A) (2 3) B) (L4 © 249 (D) (1 3)

3. T THd H PQRS Tk A g1 Af¢ ORPQ=30° , &l (x + y) HIHAAT :

9p]

R

(A) 90° (B) 120° (C) 150° (D) 180°

4.  3Tepfd H <1 IGSH 1 ATHA FHE B |
S R A D s R P A B S
P 0 B C P Q Q R

(@) (b) © (d)

a

(A) (a) (B) (b) © (© (D) (d)

5. U GHIR IgS % <1 HEFTG IO 1 ST 1:3 1 SIS I 6T A
(A) 50° (B) 90° (C) 60° (D) 45°

6.  3Tfd H PQRS Th WHId =Y & fSfH OpSsrR=125°, ORQT % AU € :

S R
125°

P Q T
(A) 75° (B) 65° (C) 55° (D) 125°
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Tk FrEqS & ool 12 I e 16 96 81 FU=gs &t S i o= |
(A) 10 Gt (B) 12 Gt (C) 16 Gt (D) 8 &+

T 1 & fashol 6t e 10 9 €, 1 39 o 1 SR ©
(A) 20 = ST (B) 100 =1 H#t (C) 50 = T G (D) 70 & |

Teh AL ki T 10 W, x 10 . x5 1. €1 S8 H W S Hehel d1el G &1 SAThHdH AwTS © :

(A) 15t (B) 16 I (C) 10t (D) 12

simel 25.7, 16.3, 2.8, 21.7, 24.3, 22.7, 24.9 &l TOR T :

(A) 22 (B) 22.9 (C) 21.7 (D) 20.5
U - |

W9 HE 11 W 18 Teh Uieh o fo1q 2 3feh ¥

24 % TUFEE! I AL F1d T |

Teh A i G, SIS Td SHaTg shAsl: 5, 4 T Td 3 W &1 50 T9¢ ufq anf ex it R 9
FHHL H D T AR T U< I I FT 1T BT |

T UISY & SIYEY UIess 1 &%hel 5 ot 9ot | Afe 39 gy H 9t o aeH i 7ifd 30 9t
gfd Yve §, 9@ 10 HifeT Tk 1 e ¥ 59 99 9 fedw oftex ot s ?

13 YTt = 91t I hT & FHIGT SETG RHY: 5 9H TE 12 9 ¥ Afg Sted s fag %
T (foadia) el # fe@ , @ 37 o= &1 g0 91 FifC |

fag FIfSY o T gaiR =gy & < Gl vl & v GHGHSTS TRER THH0 R Jiawse
Eachd

T FHIR FgYS & 3Tfeeh o7 arel 3N & IA1C ¢ Y Sl o o 1 hI0 50° 1 FHIR
FqYS & IV A IS

r9rEr
T f3s1 ABC ® D @ E %5¥1: BC W@ AD & ueA fog €, <1 fag wifaw f&

&% (BED) = %Qﬂth_c’f (ABQ)

T HarTEE g1 WER fagell A 791 B W ufa=st i B 1 fog A § T& WWEE PAQ 39 UK
s ST § o fag P aen Q fafve gl w feora €1 fag wifsw fo6 BP = BQ.

HHRTT 2x — 3y =12 I FRHA ¥ y bl x o &Y § e it 3 forgedi & fdenew 3
FIT STl W 39 FHIHr gRI e W x-2781 T y-3181 il Hredt 7
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U9 HE&AT 19 ¥ 28 Tk Uik U9 3 37k T &l

19. TH & UH TR T GHHTN 3y —2y+6=0 T x+2y—6=0 % i@ sRC| 37 7 @
TS x-3181 g ol g8 TS 1 &%t 91d hifae |

20. T WX § Uy fheiriex s St fortmn 8 ¥ad € iR S6eh a1 @i gi o1 fohaan 5 ¥ad ufa
fRAieX 1 T A T FA 4 hl x fhafiet iR a1 o &1 y T@ 96 <ifSe) 39
SRR & fau ww aw gt fafan ok S8 g & 9eEd 9 15 fearde =

EREIRIREAISE

21. W& At ABC &t Tol shifere fSed AB=5.8 I, BC+ CA =84 ¥t wd OB = 60°% |

22. 3T H ABCD T I =4S €1 A, BN C ¥ S 91el 99 CD &l 9eM W, E R e
%1 fag #ifs f&F AE = AD.

CE

Y

BN——A

23. W& ISt ABC ® X@1 XY Y{S11 BC & §HIR T BE || AC T CF || AB, {8&1 XY &I %H%I: E T&
F R faerdt €1 fag *ifSe o &9%e (ABE) = &1%a (ACF).

3T
A B
E F
D C

3fd H ABCD Ts HHcidl 8 fS&H AB || DC | fog E s AD o1 94 fofg € 3R 4T BC W
T fag F 38 WR ® f% EF || DC fag s ff fag F yst BC 1 72 fag €

24. 8 U T IR 6 Y 520 ATl Ueh ot i Se ¥ 3a1 € S TS 3! g SR e
1 o AT Vi epret foran S €1 99 31 1 Fa IS SA%e [ hifer |

25. 66 THI, 42 YT TS 21 YT famrsti dret ek S 3 w9 W fohae 4.2 U 9 91t Mol 9E
foru T Heha ¥ |
areran
20 Tt ST ofTel Teh TIE % WIS ol oTel o1 25 et €1 9fe qrdy whi Wiers 1 9 €, @ wEw
%1 Hel IS AAFA 1A I |
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= feaer faaer T w1 399l S €1 Frefafed ot wm s St wifaear I e |
G) <fu= (i) FH Y HAQ o (iii) ohrs fo Tl
Jrar
T It | 12 7S ® f79 9 1 71 wihg 1t €1 Al 971 ° 9 W g ferell S, o 9k Tig
T T 1 Tkl 10 SHite | AfE 39 91 H 6 The T i 76 3R @ & 3¢ AR 376 e
Tt 7S UTH B Y WTFehar Id bt Wigehal ¥ G &, o x 1 I F1d hifer |

el IX o 40 Toenfoi=i gra niforg & e of = yhr € -

81, 55, 68, 79, 85, 43, 29, 68, 54, 73, 47, 35, 72, 64, 95, 44, 50, 77, 64, 35,
79, 52, 45, 54, 70, 83, 62, 64, 72, 92, 84, 76, 63, 43, 54, 38, 73, 68, 52, 54

Teh TH SRERAT sied TR GaR hifsre f5ad onf Smesr 10 37k 1 2 |

frefafaa stiwel %1 Aeas Fd HifeT
19, 25, 59, 48, 35, 37, 30, 32, 51.
Jfg 25 o TAM W 52 371 W 1 T41 HIeAeh =1 81 2

wus -
YT HEAT 29 | 34 Tk Ueh oh {6TT 4 37k €
x%ﬁ%ﬂ%ﬁ Hifeq
3x -5 4(x+2) 25x+7
3 5 15
srerar

ASRB fHA T A ST BH 3 | 594 Aferess €1 B 1 a8 C ol 3T B i 3T ol A7
%1 w@fr A % faarst D &6t 311 B i 21 & g 9 8 ¥ 21f¥es €1 afg D o6t acdu 211 48
a8 ¥, @ A, B TE C i adqM 11g T it |

g FITT o T & 3MUR 2R < i @nsti & o o THia Igysi 1 &he FHH gl
gl

9T
T A" ABCD 94 AB || DC, & fahtl AC a2 BD &R fag O R Jfa=sg & 21
g wifse fw
STHA(AAOD) = &AHA(ABOC)

Frefafaad stiwel & fou we emaa fo T IReRd s SR

Hh 10-15 | 15-20 | 20-25 | 25-30 | 30-40 | 40-60 | 60 - 80
Ta=mter st
- 7 9 8 5 12 12 8
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34.

stepfa & =S ABCD & fashul AC @2 BD W&R fog O R 39 Y&hR yfawsg & €
OB=0D 3fg AB=CD dI

Dt 7A
O
frg=wifSufe (1) &I%a (DOC) = &A% (AOB)

(i) &% (DCB) = &9%A (ACB)
(i) ABCD T&% 9@ Jq4 |

3TTeRfd H 1 a0 TR fag B 92 C W ufa=ss &id ¢ 1 fowg B ¥ 31 W@r@€ ABD Ud PBQ, i
I A A, D TP, Q W Ufd=sg #id gC oA oI & | fag sifsre f 0ACPE QCD.

P
B D

T e Ut 1 M & ot Tk dAhet & e & Ak WS & 3 dod ol fihe fohan T
%1 Hifiret o1 = 7 faefiiex wd IEe o5 =g 1 faeiier ®1 afe Sfae ot awerg 14 90 #,
Al Thel Td THIES 1 I A1 HiTTg |

-00o0-

041/IX/SA2/30/ A1 11

4

4



